9 READ AND TICK (v)

He’s wearing a hat

He’s wearing a yellow woolly hat

He’s wearing sunglasses

He’s wearing a blue shirt

He’s wearing a white T-shirt

He’s wearing brown shorts

He’s wearing brown trunks

H’es wearing sandals

He’s wearing red trainers

) LOOK AND MATCH TO THE CORRECT SENTENCES.

She’s wearing a woolly hat

She’s wearing a red cap

She’s wearing pink sunglasses
She’s wearing a blue shirt

She’s wearing a yellow T-shirt
She’s wearing a blue dress

She’s wearing red and blue tights
She’s wearing sandals

She’s wearing purple shoes



